NTERADHB(HEBERFH
4 —rh2RER—-9R —2:8— AIE A
K4

1) ROC DIZABHEFEEELGSL, (AR X5E=20:)

1) 1EE=( Dk
2) 1keg=( Jmg

3) 1km=( ymm
4) 1kL=( JmL

5) 4356kg+7869kg=( )1( ke
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2) RO(C DIZABBFEEELEL, (4R X5E=201)

1)

2)

3)

4)

5)

285 = ( )5

3keg=( )g

54mm=( Jem( ymm
7dL4mL=( JmL
3km23m—2895m=( m
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3) RO(C DIZAZBFEEELE, (4R X5E=201)

1) 35=( Dk

2) 5t=( )g

3) 5032. 3m=( Ykm( ym( Jem
4) 4kL58L=( )L

5) 2kL247L+3786L=( JKL( )L
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4) RO(C DIZABBFEEELEL,. (4R X5E=201)

1) 1EfES4% =( )5

2) 4g=( mg

3) 3. 028km=( Ykm( )m
4) 3.47L=( JmL

5) A4KRI37439% —185R153448F)
=( YEFRE( )5 ( Y
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5) RD( DIZAIHEFEEEHE, (4R X58=20)
1) 24958#=( Y
2) 5073kg=( )t ( kg
3) 324. 2cm=( ym( Yem(
4) 8.43dL=( JmL
5) 4kgbg—2218g=( Yke( g

Jmm
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A —thZZER—9F —2:8

1) ARE—@E (45 X58) A B

1) 3600 2) 1000000 3) 1000000 4) 1000000 5) 12, 225

2) RE—MRE (4R X58) A H

1) 120  2) 3000 3) 54 4) 704 5) 128

3) KiE—MRE (4R x58) A H

1) 180 2) 5000 3) 532,30 4) 4058 5) 6,33

4) KIE—RRE (4R x5H) A B

1) 114 2) 4000 3) 3,28 4) 3470 5) 2,43, 51

5) &IE—ME (4R Xx5H) A B

1) 178 2) 5,73 3) 3,24,2 4) 843 5) 1,787



